2"-x

8 n=8 25(00011001) 25  28=256
256-25=231(11100111) 00011001 11100110 1
1.
2. 1
3. -1
-128 127 16 -32768 32767
-27147483648 2147483647
-1 1
add, sub ADC, SBB, INC, DEC, NEG
unsigned ADD
1 ZF(
) SK( ) OF( ) CF
SF OF
OF CF
ADC Add with carry ADD
32
64
SuB SUB
CF SBB(subtract
with borrow) sub CF -1
INC DEC
inc dst # dst = dst+1l
dec dst # dst = dst-1
INC(increment) dst DEC
CF
neg dst # dst = -dst
NEG 0 dst
mul ,div
2
IMUL IMUL
imul src,dst # dst = dst * src
add sub
imul srcl,src2,dst # dst = srcl * src2
dst
imul src # edx:eax = eax * src
eax ,SIrc
edx eax



imul
eax * src

mul
sSrc # edx:eax =

mul
imul

idiv src # eax = (edx: eax) / src , edx =

edx eax src

eax edx div

32 64 cltd(cdq)

mov srcl,%eax # eax

clud # eax -> edx:eax

idiv src2 # src2 eax edx

X86
eax,ebx,ecx,edx ax,bx,cx,dx
ah,bh,ch,dh, al,bl,cl,dl
edi esi di,si Xx86
mov srcl,%ax # srcl ax
add srcl,%al # src al
src dst
1(C ) w( ) b(

movb $1, (%edi)

%edi 1 imul  idiv

imull, idivl eax edx imulw, idivw
dx imulb, idivb al ah
2
movs  movz movs
sign extension movz 0
src dst
movsbl (%di),%eax # 32 eax
movzwl (%si),%edx # edx 16 0
1bit SHL(shift logical left)

shl src,dst # dst = dst << src

src cl

SAR(shift arithmetic right)
shr src,dst # dst = dst >> src
sar src,dst # dst = dst >> src
SAR

SHR(Shift logical right)

0

AND, OR, XOR, NOT

NOT



